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(b) Is your answer to (a) an underestimate or an overestimate?
Give areason for your answer. ~ OVer eshwmate ac< (Cosf
up hekets amvd numbe~ uf hekets wece both coundsd
U . [1]
3. A cinema has
37 rows of seats .
23 seats in each row.
Adult tickets are £8 each.
Child tickets are £6 each
The cinema has sold tickets for every seat.
The manager estimates that £6400 was raised from these tickets.
200 child tickets were sold.
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salami
o 14 pam Pizza

Work out how much mmpamkmmm. "7 X100 = 400

Write down any assumption you make and explain how this could affect your
answer,
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5. Estimate the answer to 51x 3.9,
=50x 4% & 100 [2)
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shopkeeper that his total is not correct.

(b) What mistake do you think the shopkeeper made? :
Shari added B7p 0z LEF inchead JEOET

7. A unit of gas costs 4.2 pence.

On average Ria uses 50.1 units of gas a week.
She pays for the gas she uses in 13 weeks.

(a) Work out an estimate for the amount Ria pays.

Unls wed = 5o% 10 = 500 uwis
Cest % 500 wwfs = S00x 4p

= 1000?

G rocroion A

(b) Is your estimate to part (a) an underestimate or an overestimate?
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